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3,850& 1204 462
oA24H ZHI=SE 20l
5,300& * 604 318
0. MUl He&E 472 =4 3,152
oA2&H 2H HIHE WA
35,2003 = 204 704




SN HEAMD
X dEgHIl=2al
Chel: MatMg D] 2te| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0A2A&H 220 L 2433 2E~e
96,800& * 53 484
04242 FRYLIE RAASHHZ WA
66,000& * 53| 330
oHI&TH ZEfc| BEQIB L
30,2503 = 1804 = 33l 1,634
0.MHSEEHE SLSEFL(LEQCE)
80,000& = 128 « 53l 4,800
0.HIIS(H=s2)AEHel =5
500,000& * 13l 500
0.sZHJI2 SEXMeAIE dHIA
1,650,000& = 200 A 3,300
OSZHI (BZAELRFX) 7,000& +82+70 3,920
OfI8u =l 61
0.RIg25s2e UsEA 61,000 «1Q! 61
Oul=l 880
0.0+& 3} 60,000 *821 1= 480
0.%o= 50,000 ¥891 » 1 & 400
Oogxtz 5,940
0.=EMN 28t 660,000 *3CH*33] 5,940
02 =224l 390,729 423,184 N 32,455
O332= % HAl 92,208
0.2 MIIR= 6,000,000& 123 72,000
0.sZHIISEEXMeAMNE M3
1,500,000& 122 18,000
0.IIHAMESZNHEEEIIRS
17,000 128 204
0.2CINMNEZZNEE HIIRS
167,000 128 2,004
Ozl 43,179
0.424Z22H 1,945& = 1,800¢ 123/ 42,012
O ARAHEEAY 1,9453 %3004 *20H 2 1,167
OAE ZHI S X 50,738
0.42z UWat= A 2,000,000& * 12m 24,000
0.42r& st 2 X2t0ct wA
2,200,000& * 14 2,200
0.42r& Jde Aols uAH
1,512,500& * 33l 4,538
0.2 HsI =2l(WZH=2H)
3,400,000& * 17| 3,400
O.HEEZAMNSESUNEE =SEZuXH
2,200,000& * 34 6,600
0.4 A2t 24 A
5,000,000& = 2H 10,000
OXt& & Byl 189,000
0.7F0 1,500,000& » 9Cf  12& 162,000

_14_




A== S9(3H) - NEAY - BaS ﬁlf& HD=2

0.2 X2 250,000& = 9O  12& 27,000
O=24D] 14,070
0.5 1,945% = 5004 =12& 11,670
0.9 Xl 2 =t| 100,000& = 2CH = 12€ 2,400
O Xl Al X 1,534
0.9 1,9453 %407 =128 934
0.9 Xl 2 £=H| 50,000 = 10H = 12& 600

202 04| 19,200 17,280 1,920

01 2L Y| 19,200 17,280 1,920
OSEANET2 3 200,000& x8021x12& 19,200

206 M = Hl 135,951 119,697 16,254

01 X2t 135,951 119,697 16,254
OAaAZ2IAER 18,999
0.&82X 3,415& *1,0004 3,415
0.A43] 723 %126,000kg 9,072
0.24¢E 2,200 x400kg 880
0.4 440& *9,000kg 3,960
0. €A 6,000 2004 1,200
0.93ILUHES 330& *900kg 297
0.3 XAl 14,520 =124 175
O~z 83U E A3 32e 22,000& x203] 440
OMHIE#ESEXN2IE BExHHel ¥E372Y 34,913
0.32l4 10,220& *2,0804 21,258
0.2 4t 500& *20,000£ 10,000
0.3 JHA 10,000& x7kg*203] 1,400
0.8 = 22,550& *1004 2,255
Oblatl 228 EHOIL ¢ 6,120 *5000H 3,060
Ofg&EFHIY 9 R 2L 6,486
0.8 & 1,945& x1,0004 ~3& 5,835
0.3 &% 2,167& %1004 *3& 651
oMyl ez HelEd2des2 Y 45,058
0.#8Egeol 24 ,000& 600 & 14,400
0. m 24 ,000& 600 &t 14,400
0.9IECIXIEH 8,070& *400H 3,228
0.9EEH 13,200& x50 4 660
0.pH &M 960,000& * 24 1,920
0.8II18EE EAADNEF 3,300,000& » 204 6,600
0.5 232HD 2,000,000& = 1CH 2,000
0.84 BgEHZ 1,850,000& * 1CH 1,850
Ox2&ded 2871 23,695
0.€& Y 2,450,000& 2 4,900




SH: BHAMD
X dEgHIl=2al
Chel: MatMg D] 2te| (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0.280 E3Itbt 334,000& = 104 3,340
0.71012 €& AZE 670,000 * 404 2,680
0.443 B2FE 620,000& * 5H 3,100
0.2dQ 2A0lHZE 467,000& = 5H 2,335
0.443 2AME 2,000,000 = 2K 4,000
0.2A EMNLSE 1,670,000& * 2JH4 3,340
OdEH HWEES 2200 7Y
5,500& »6000H 3,300
207 & 00 & Hl 45,000 0 45,000
01 2284 45,000 0 45,000
OHUWANESZEZMHEE FHEZEHEIZA
30,000,000& * 14 30,000
OAAANLSY MY B8Y
15,000,000& * 14 15,000
306 ¢ 2 33,127 32,119 1,008
01 &3 33,127 32,119 1,008
OsZEHJIEsEM2UEYE U3
331,265,000& *10/100 33,127
401 AIEHI L 2CHEI 181,080 0 181,080
01 A& Hl 180,000 0 180,000
OX2AE FHAYG X3 ALY 150,000, 000& 150,000
OMEHISAAANE dEF SEHIA
30,000,000& 30,000
03 Al S THHI 1,080 0 1,080
OXLZAIE FEXSY X ALIIEHR ]
150,000,000& * 0.72/100 1,080
402 RI2EX=20| A 19,800 200,000 A 180,200
01 RIZEAt2E X 19,800 200,000 A 180,200
O Z =X XIAL
3,300,000& * 6IH0t=S 19,800
AlS P 2e 54,420 119,271 A 64,851
= 556
i 53,864
= So & AFeHH 2L 54,420 119,271 A 64,851
= 556
s 53,864
AMaFSA U AZOHE 46,230 111,170 64,940
201 £B-2%H| 12,790 12,630 160
01 At 22l 12,790 12,630 160
Oger2dl 11,320
0.=s4SEMNESESHE 20,000& 1004 2,000
0.BERAAMALLTANS£E
80,0003 » 1201 2 960
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